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9 12 13 7
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10 30
45 20 30 30
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40
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8 6 10 9
35 35
01,= 5 0;3= 2 0,= -8
9 12 13 7
10 20 20 50
024 = =9
14 9 16 5
10 30 40
031 = —2 03, = 6

Demand 45 20 30 30
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U3:_2
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O+v,=8 1+v,=12 1+vy,=13 -2+v,=5
v,=8 v,=11 vy=12 vV, =7
8 6 10
35
0;,= 95 013= 2 014= =2
9 12 13
10 10 30
0y, =1
14 9 16
10 30
63, = -8 033= -6
45 20 30 30
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35
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40
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+ —
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0 = min {10, 35} = 10 = x,, leave
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14 9 16 5
10 30
45 20 30 30
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9 12 13 7
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Demand 45 20 30 30

Jall dBial jlad) ey



Laad) (Saall bl Jad) Atia) jLadl

u;=0

u,+8=9
u,=1

u;+6=9
U;=3
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O+v,=8 0+v,=6 1+v;=13 3+v,=5
8 6 10
25 10
813:2 814:_7
9 12 13
20 30
0y7= =5 0y = =4
14 9 16
10 30
03 = -3 033= -1
45 20 30 30

(z =1070) Jial ud S 1) ¢ §; > 0 2>
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48



SN Joaa A Laa (Saa el o ) JEEN)

: adl) Lles

Demand

0 = min {25, 30} = 25 = x4, leave
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8 6 10 9
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Y ) >»@®

‘ 9 12 l 13 7
20 41,9 2306

14 9 16 5

10 30
45 20 30 30
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35
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40
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8 6 10 9
25 - 25 10 N + 25 35
B ) »®
9 12 l 13 7
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+ - —
14 9 16 5
10 30 40
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0+6-8 10 25 0+2-9
05 = - 014= =7
9 12 13 7
45 3+6-12 5 3+2-7
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14 9 16 5
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031 = =5 O33= -3
45 20 30 30
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X117 X4 = Xpp = Xpg = Xg1 =X33=0.
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10 25
9 12 13
45 5
14 9 16
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30 30
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50

40
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53=12+23+18=
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43 =23 + 20 = Y e
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